NAME: Date: Grade:

(From Grade Calculation on last page)

Lesson 13
= PracticeDrill 1 &

SoTrandate John 1:9 (10 answer s):

< Par se (41 answer s):
"Hv (7 answers): Imperf ( )-Ind-3- - -

10 O (7 answers): - Nom ( )-N-S- , , -

70 GANOLvov (10 answers): Adj ( ) - Nom ( )-N-S- - - -

0 (12 answers): - Nom ( )-N-S- , , - introducing a
dependent clause:

owtilel (8answers): Pres( )-Act-Ind-3-S- -

ndvto (9answers): Adj ( )-Acc-M -S- , , -

dvBpownov (7 answers): -Acc( )-M-S- , -

€pyouevov (12 answers): Pres(Desc) - Dep - Ptc (Adj: Attrib/ Adv: Temp) - Nom- N - S- €pyouat- asit comes

€1¢ T0V KOopov (7 answers): -Acc( )-M-S- , -

********************GRADE CALCULATI ON********************

Nunber of Errors . Total Pts. 100. 00
M ssed accents and breat hi ng mar ks
= 1/4 error per word M nus Pts.
Ti nmes 2.00 M ssed
Total Pts. M ssed . G ade

(Please record grade at top of page 1)



